1, Glven: £AEC =
Prove: 2AEB = 4DEC
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Statemenis

Redsons

2LAEC = LDEB

_Given

meLAEC = meDER

mLAEB + msBEC = msAEC

meDEC + meBEC = meDEB
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Slgetrtued
- MLAEB -+ meBEC = miDEC +

mezBEC |
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(—A’EC{CDEQ 6. meAEB = mezDEC
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7. tAEB = LDEC

6. Sub-fmﬁm ‘?maf
7. DeaniHien of Coneruent
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2. Given: BC = DE D ! E
Prove: AC = AB + DE } ®
| Statements Reasons
1. BC = DE 1. (Glven )
2. BC = DE 2. DeAnition &€ Condent Séqments
3. AC=AB+BC 3. _Seoment Additiayl Paostuiate
4. AC = AB + DE 4.__SulrsHituten Prog. &)
3. Glven: 21 and £2 form a linear pair! 3
mez + me3 + med = 180° / )
Praove: msl = ms3 + mzéd ] 2 4
7 Statements Reasons

£l and £2 forma linear pair

1. (3lven

Zland £2 are supplementary

2. DeAniHon of Linear Pair W

msL2 + me3 4+ med = 180°

mel +me2 = 180°
med = me?2

mel 4+ me2 =me2 +me3 + med

6. subsHdutian

3. EzWCﬂ
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mel =me3 + med

7. Subitracion

4. Glven: B is between A and D; € is between A and D

Frove; ABE+ BD = AC +CD
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Statementis

B is between A and D; C is between A and D

AB -+ BD = AD
AC+ECD = AD

AD = AC +CD

MM |~

AB + BD = AC SiCB




5 Given 3x~2=x-8

Prove: ¥ = =3
Stalements
1, 8x=2=x ~8
2 3x—-242=x-B4+2
3. 3 +0=yx~6
4, 3x 4 (~x)=x+(~2)~6 4, :
B, 2x= 6 5__Suleshiiion .
6. x= -3 & DAVISien Prop. (=9
D
6. Glven: 4, B,and € are colllnear; AR = BD: BD = BC jL
Prove! B is the midpoint of AC A ; ry ¥ "
Sﬁufamam - - ' " Reasons
Py 0 i 1 ERIL™ v ]‘ @,iven
2. Transiive Property of Eauality
3, Definitlon of Congruent Segments
4, Definifion of Midpolnt

7. Glven: AB L BU: me2 = med
Prove: mal -+ me3 = 90°

Stotermants

= mm 4 e
B el b ez = an°
6. msl +med = 500

B, Glvern: 4D = 2ARB 4 BE
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Prove: dE =D
Staternents ' Reasons
LAz 249 + 80 1. ("ﬂ\m*ﬂ
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